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strA = 'Ol L2 —#E 5|5

strB= "0 A= —#HE5]|5x"

strC = " English sentence is here too "
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print(type(33.3))
print(type(2+33))
print(type(-10))

print(type(3/10))
print(type(3.14))
print(type('one, two, three'))
print(type("dice"))
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« str ='dice'
« print( )
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str = 'dice' #5! (index)
print(strlo. BBZ[RS|E N]

print(str[1]
print(str[2]
print(str[3]
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e str = 'dice’

* print(str[-4]) d i C e
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str = 'one, two, three' th /A (slicing)
print(str[0:3] S A[EBZESIEAL
print(str[3:4. R ES[ME]]
print(str[4:7]
print(str[7:
print(str[8:
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text = "l love you" #inputiF 2l —1{E=F &
textall = text.split("") #77=+FF 2

textO = text.split(" ")[0] #ENH =50/ FF &
textl = text.split(" ")[1] #EJ MRS 1 FF &
text2 = text.split(" ")[2] #EJ MR 5|20 FF &

print(textall)
print(text0)
print(textl)
print(text2) ]
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| 13di :J ['l', 'love', 'you']
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